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SN oS
PSP Heddd(gers)
S 23Hl(dots) (e &)
K- EH3 B (3H) - HSAY - Ba2 il HDS2
— Aot ate] SIEs 200,000& =123 2,400
—AadotMae 82 330,000& =23 660
O Xt &k Bt 3,500
— 2832 X =Xl 2,000,000& =1CH 2,000
—dIISEX 7L 1,500,000& = 1CH 1,500
202 04 b] 3,360 7,200 A 3,840
01 2LHOHI 3,360 7,200 N 3,840
OJl2ga#H=E0YI 20,0003 *14H x12& 3,360
203 PR =&Y| 9,680 9,600 80
01 J|2A2F PR =&Y 6,270 6,270 0
OJ#2dgd2 =8| 6,600,000& *95% 6,270
02 R R = XY 560 480 80
OFAINNMZ 40,000& *14H 560
04 ENSIHRF=EY| 2,850 2,850 0
ORNS2gIRF&Y| 250,000& *12& *95% 2,850
HOotES AFY &H| 295,574 262,613 32,961
F 0l MET| & ALY 156,933 123,972 32,961
FOUXXHEEH 29 96,980 77,980 19,000
201 LEt2 Y| 43,490 27,100 16,390
01 At 22l Yl 39,090 22,700 16,390
OFUXXHEEH 29 HMZBHl 400,000 x12& 4,800
OF0XX3E 3o &Y
50,0003 x50H x12& 30,000
obld ¢xt = 22,900 x40 =128 1,100
OFUNXNEZZ IO HSAE AMHES
3,190,000& 3,190
02 332494l 4,400 4,400 0
03322 % MA 2,400
— QoY & HOIZSTV=AE 200,000 128 2,400
OA & &Hl S X 2,000
— FOXXAE AME X224 2,000,000 2,000
301 deEtE X = 50,880 50,880 0
12 JIEtE &2 50,880 50,880 0
OFUXXHE ZAI=E
30,0003 *12H x93| x 12& 38,880
OX&SALAH A H| 2 A 12,000
— NS SAHA AlHI 8 A
10,0003 *4H »25 »12& 12,000
405 XHabF SHI 2,610 0 2,610
01 AL 2B F SHI 610 0 610
OFUXXE AIRS2t 2E ¢ 610,000& 610
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